How to use inventory function?
1. Ingredient programming

[image: image1.png]INGREDIENT PROGRAMMING

INGREDIENT# DESCRIPTOR cosT
001 CHEESE 000.300
002 TOMATO 000.200
003 BUN 000.500
004 000.000
005 000.000
006 000.000
007 000.000
008 000.000
009 000.000
010 000.000
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Where,
INGREDIENT# is a ingredient index,

DESCRIPTOR is a name of an ingredient

COST is a unit price of an ingredient.

2. Recipe table programming

[image: image2.png]RECIPE# 1 PROGRAMMING

RECIPE# DESCRIPTOR BURGER

ING/RECIPE # DESCRIPTOR oy
01 INGREDIENT 01 CHEESE 01.000
02 INGREDIENT 02 TOMATO 01.000
03 INGREDIENT 03 BUN 02.000
04 INGREDIENT 00 00.000
05 INGREDIENT 00 00.000
06 INGREDIENT 00 00.000
07 INGREDIENT 00 00.000
08 INGREDIENT 00 00.000
09 INGREDIENT 00 00.000
10 INGREDIENT 00 00.000
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Stock control of each ingredient is based on this recipe table.

Operator can define how many pieces of each ingredient are used for this specific recipe. For example, in the above recipe for BURGER item, 1 piece of cheese , tomato and 2 pieces of bun are used.

3. PLU link
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STOCK LINK PLU # 000000000000000000
MODIFLER QTY 00.00

GROUP LINK #1 [01] GROUP1
PLU STATUS GROUP LINK# [01] PLU STS 1
PLECE COUNT 000
PRODUCT MIX# 00
RECIPE# 01
MIXSMATCH TABLE# 00
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PLU#1 is a BURGER PLU and has a recipe table link#1 and let’s assume that the price of this BURGER PLU is 7.00.

4. Editing inventory to setup the initial stock count

Just put the initial stock quantity of each ingredient into ACTUAL INVENTORY  and RECEIPT fields.
ACTUAL INVENTORY field contains the real quantity of each ingredient which is counted manually by the operator and RECEIPT field represents the receipt quantity from the supplier.

Let’s assume the initial stock quantity of cheese is 50.0, tomato is 50.0 and 100.0 for bun.
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Then the operator should run the Z-Inventory report before use this stock control function. 
[image: image7.png]THVENTORY REPORT.
CONSOLTDATED  (01)

7L REPORT
INV #001 CHEESE

BEGLNNING INVENTORY
RECEIPTS

TRANSFER INS
TRANSFER 0UTS

RAW WASTE
THEORETICAL USAGE
ACTUAL INVENTORY
ACTUAL USAGE
ENDING INVENTORY
VALUE OF INVENTORY
VARIANCE +/-
VARIANCE COST
EFFLCIENCY %

FOOD COST

FOOD COST %

INVENTORY TOTAL

PLU RECIPE SALES
FOOD COST

FOOD COST %

VALUE OF INVENTORY

SAVE (SD)

SAVE (USB)





After this Z report, the ENDING INVENTORY value will move to BEGINNING INVENTORY field and will act as an initial stock quantity.
* If you want to add a new stock value, then put the added value into RECEIPT field and re-write the ACTUAL INVENTORY field as (ENDING INVENTORY + RECEIPT).
For example, if you want to add extra 100.0 cheese then type in 100.0 for RECEIPT and 150.0 for ACTUAL INVENTORY.

5. Making sale
Then make some sale, for example 3 x BURGER(PLU#1)
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6. Edit Inventory item prior to issue the inventory report
Operator should check the EDIT INVENTORY ITEM menu in X mode prior to run the INVENTORY report.
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Where,
*ACTUAL INVENTORY : real item quantity which is counted by a person.

*RECEIPT : Purchased ingredient quantity from the supplier.

*TRANSFER IN : In-shop movement of ingredient(received), for example

part of the ingredient is transferred in this room.

*TRANSFER OUT : In-shop movement of ingredient(sent), for example

part of the ingredient is transferred out from this room to another room.

*RAW WASTE : Quantity of wasted item for any reason like spoiled or broken ingredients.

In the above example for CHEESE, 3 pieces of cheese are spent as 3 BURGERs are 

Sold and 1 cheese is wasted so the actual remained quantity should be 46.0 but only 

45.0 pieces are reported. This kind of loss will be reported in the inventory report.
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3 tomatoes are spent and 47.0 pieces are report so correct.
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Please remind that initial quantity for bun was 100.0.

Now 6 pieces of bun are used for making 3 burgers so the actual remaining 

inventory quantity for bun should be,

100 – 6 + 22(RECEIPT) + 30(TRANSFER IN) – 50(TRANSFER OUT) – 2

(RAW WASTE) = 94.0 and reported ACTUAL INVENTORY is 94.0 so it’s correct.

7. Inventory reporting

Now inventory reporting shows the following.
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Where,

*BEGINNING INVENTORY : Initial inventory quantity. Please remind that we put 50 

as a initial inventory.

*THEORETICAL USAGE : Spent ingredient quantity calculated by ECR.

For example, 3 pieces of cheese came from 3 x BURGER(each burger needs 

1 piece of cheese)

*ACTUAL INVENTORY : This came from the manually counted quantity.

*ACTUAL USAGE : Actually spent item quantity. Ideally this should be same as THEORETICAL USAGE but can be different in real situation.

   In the above example, 

   ACTUAL USAGE  = 50 (BEGINNING INV.) + 0(TRANS. IN) – 0(TRANS. OUT) 

· 1(RAW WASTE) – 45(ACTUAL INV.)
    *ENDING INVENTORY : Current inventory item quantity.

    *VALUE OF INVENTORY : Price  x  ENDING INVENTORY = 0.3 x 45.0 = 13.5

    *VARIANCE +/- : Quantity loss or gain  
= (THEORETICAL USAGE - ACTUAL USAGE) = (3-4) = -1
*VARIANCE COST : Amount loss or gain  

= (VARIANCE +/-) x  price   = -1 x 0.3 = -0.3

    *EFFICIENCY %: Accuracy %

= 1 - (ACTUAL USAGE – THEORETICAL USAGE)/ THEORETICAL USAGE
= 1 – (4 – 3)/3 = 0.6667 -> 66.67%

    *FOOD COST : Total cost of this ingredient 

= ACTUAL USAGE  x  price : 4 x 0.3 = 1.2
    *FOOD COST% : Portion of this ingredient’s cost in the entire sale.

       = (1.2 / (3 x 7.00)) = 0.0571 -> 5.71%
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In the INVENTORY TOTAL section,

PLU RECIPE SALES : Recipe sale total

FOOD COST : Total cost for this recipe sale = 1.2 + 0.6 + 3.0 = 4.8

FOOD COST% : Portion of all the ingredient’s cost in the entire recipe sale.

= 4.8 / 21.0 = 0.2285 -> 22.85% so the profit rate will be 100% - 22.85% = 77.15%
VARIANCE COST : Total amount loss or gain = -0.3 + 0.0 + 0.0 = -0.3

9. Related option flags

 - P mode report option : ENABLE INVENTORY REPORTING WITHOUT ACTUAL INVENTORY INPUT -> This option eliminates the needs of entering actual inventory for every inventory reporting. It will just use the theoretical usage for calculation instead of actual inventory counting(manually).

But actual usage is always same as theoretical usage so if you want to check the real inventory in stock, you should enter the actual inventory in REP mode ACTUAL INVENTORY editing menu even this flag is active.
